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SHS ANFSAH 2435AY XI&
16,800, 000& 16,800
oxg=sXezs XA 70,000,000& 70,000
401 AIEHI L 20 20,000 10,000 10,000
01 A& Bl 20,000 10,000 10,000
ONASALEEH =2l & 2l 20,000, 000& 20,000
405 XHAHE S| 7,000 0 7,000
01 AL EZFH S 7,000 0 7,000
ONASALEEH &Il ¢ 7,000,000& 7,000
NASAH 243 N 14,200 14,200 0
< 4,700
Al 9,500
201 et 12,000 12,000 0
< 3,600
Al 8,400
01 At 22l 8,000 8,000 0
O3 SAL 43t X& 8,000,000& 8,000
< 2,400
Al 5,600
02 =224l 4,000 4,000 0
ONASAL 43t XA 4,000,000& 4,000
< 1,200
Al 2,800
301 LA F 2,200 2,200 0
< 1,100
Al 1,100
09 AL HIXI &3 2,200 2,200 0
O XNEASAX A== 2,200,000& 2,200
< 1,100
Al 1,100
A SAF 2C0UO0IH XN& =4 59,066 59,066 0
= 29,533
< 7,308
Al 22,225




AN FUHEX S D
M I ZMEBE
Sl SY=T X (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
101 14 Hl 59,066 59,066 0
= 29,533
< 7,308
Al 22,225
03 B2 (RIHY)22NE S 59,066 59,066 0
OXESAL 2CIUIOIE Al 59,066,000& 59,066
= 29,533
= 7,308
Al 22,225
AAESA 2CUOIH X2 4 (XHAl) 8,000 7,400 600
101 @124 dl 8,000 7,400 600
03 SR (RIHY)22HE S 8,000 7,400 600
OX&SAt ZCIUHIOIH el Abl 8,000,000 8,000
AESALEEH JI2EHMZ2 2K el A4Hl X2 22,768 23,000 A 232
101 @124l 22,768 23,000 A 232
04 JI2ZtHZ22HEE = 22,768 23,000 A 232
ONASALEE JI2ZtHZ2Z2 X 2124 H| 22,768
JIZtHMZ2=2 R JleEs 73,280 27 9 17,808
SJIZEHMZ22A & 0WH 30,0003 x5 +93 1,350
SIIZFMZ2 2R Al22+E
13,7603 x8A| 2t 9 991
SIIZEMIZ 2R 4UEd s 2,619,000& 2,619
= S8 NASAEE It Mula XI& 6,098 6,098 0
= 3,049
< 915
Al 2,134
201 L2l 6,098 6,098 0
= 3,049
< 915
Al 2,134
02 2324l 6,098 6,098 0
OXNESAL EEE 6,098,000 6,098
= 3,049
< 915
Al 2,134
==X 584,383 266,464 317,919
= 467,507
< 58,438
Al 58,438
301 LA F 584,383 266,464 317,919
= 467,507
= 58,438
Al 58,438
01 Ml28E 6= 584,383 266,464 317,919




AN FRMSTA L
HE: | EMERE
o9l sY=T X (29 a8)
SA - BB B () - MM - BES Ol &t o San HmEET
(OFIF=2=—-PN 584,383,000 584,383
= 467,507
< 58,438
Al 58,438
HAasE 2275 XA 15,000 15,000 0
301 LEPEAZ 15,000 15,000 0
01 MEIBEE 2053 15,000 15,000 0
OMAsSE 2e+s &3 N&  15,000,000& 15,000
ANETEE AMIIMEBIA EXAS (XITE) 303,204 303,204 0
s 212,243
= 27,288
Al 63,673
201 Let24d] 4,000 0 4,000
s 4,000
01 At 22/l 4,000 0 4,000
OXSXEed MaMUA EXAG(XIE)
4,000,000& 4,000
s 4,000
308 XX EHH SOl A 299,204 303,204 A 4,000
s 208,243
< 27,288
Al 63,673
N 3IN2SUHUEE LS A 299,204 303,204 A 4,000
OXSEXEd" MIMUIA EXAS (X))
299,204,000 299,204
s 208,243
< 27,288
Al 63,673
NAAMEHE AN 2 34,000 34,000 0
< 6,000
Al 28,000
101 1A dl 34,000 0 34,000
< 6,000
Al 28,000
03 BRE(RIAHA)2Z2NHES 34,000 0 34,000
OXYGASEZEAN 2248 XA
30,000,000& 30,000
< 6,000
Al 24,000
OXYAAMIIEHEAM 22l XA (XHA)
4,000,000& 4,000
NAMIEHEAM 2Z(XHA) 93,000 93,000 0
201 Let2d ] 9,000 10,000 A 1,000
01 At 22l 9,000 10,000 A 1,000
O g+t 4,000,000 4,000




AN FUHEX S D
MM ) ZMEDHE
9l 5Y=X K CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ORI+ 5,000,000& 5,000
301 LA S 2,000 1,000 1,000
09 HALAHIXI &3 2,000 1,000 1,000
Ou=s & AMOolILE &It 1,000,000 1,000
©3g Xdiz & d=03 ot
1,000,000 1,000
307 21201 A 82,000 82,000 0
11T ALSI S XA E X 82,000 82,000 0
OXGASEEZEAN 29 40,000,000& 40,000
OSHSXNAMISBEE AN 43 A HI
42,000,000& 42,000
S8s %EE SEgAMHA XA 117,600 117,600 0
= 82,320
Al 35,280
201 Let24] 35,280 35,280 0
= 24,696
Al 10,584
01 At 2t 2l 35,280 35,280 0
OSHS AtddlZelAtY 35,280,000& 35,280
= 24,696
Al 10,584
301 LEeEAF 82,320 82,320 0
= 57,624
Al 24,696
01 AR 2Z A5 3 82,320 82,320 0
O=s8s AtdlZel K& 82,320,000& 82,320
= 57,624
Al 24,696
ANZ7 SeEgAdzel N (SSASEXNXLHA N 8,000 7,600 400
&)
= 4,000
Al 4,000
201 et 4,000 3,800 200
= 2,000
Al 2,000
01 At 22l 4,000 3,800 200
OSeAtdl 22l At 4,000,000& 4,000
= 2,000
Al 2,000
301 LEd = 4,000 3,800 200
= 2,000
Al 2,000
01 Ml2ZE 6= 4,000 3,800 200
OSE At 2el & 4,000,000& 4,000
= 2,000




AN FUHEX S D
M I ZMEBE
9l 5Y=X K CERED
= (o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 2,000
SEAtdl2tel AL e121d] X (23 AtE =S X & R H N 65,128 65,128 0
SAY)
= 32,564
Al 32,564
101 124l 65,128 65,128 0
= 32,564
Al 32,564
03 2R (RIAHA)2Z2RHE > 65,128 65,128 0
OSEAtdl 2t el Ab el 2| 65,128,000 65,128
= 32,564
Al 32,564
SE A2l At A AH K& (XA 5,800 5,200 600
101 @124l 5,800 5,200 600
03 SR (RIAHY)2Z2NES 5,800 5,200 600
OSe At 2tel AL elAdl XI& 5,800,000& 5,800
S|Ad=R X2 19,000 19,000 0
201 ¢4l 10,000 11,000 A 1,000
01 At 2t 2l 8,000 8,000 0
osL=k gRF2 8,000,000& 8,000
03 &AL Z I 2,000 3,000 A 1,000
Osl%lLis HMHIA 29 2,000,000& 2,000
307 glz2tol & 9,000 8,000 1,000
11T M SXASE EX 9,000 8,000 1,000
OAMSI=XI2Y I8 A XA 8,000,000& 8,000
OMASOISHELEE 1,000,000 1,000
Mz FXM FHE 29 1,000 1,000 0
301 LeEBAF 1,000 1,000 0
09 SALEHIX A S 1,000 1,000 0
odMazzr 3 FH 24 1,000, 000& 1,000
SHEsSNUIAMEHEEAM 22 & A XA 22,200 28,700 A 6,500
< 11,100
Al 11,100
301 LEHZ 14,000 14,000 0
< 7,000
Al 7,000
09 HALAHIX RS 14,000 14,000 0
Osd¥E NIAEZEAN 298 XA
14,000, 000& 14,000
< 7,000
Al 7,000
307 gl2tol & 8,200 14,700 A 6,500




AN FRMSTA L
HE: | EMERE
9l 5Y=X K (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
< 4,100
Al 4,100
11T M SXASEX 8,200 14,700 A 6,500
O=SHS NAMIBHEAM AFS K&
8,200,000& 8,200
< 4,100
Al 4,100
AN EXNZEWHH 25 & 243 AIEMY 50,000 50,000 0
= 15,000
Al 35,000
307 glz2+ol & 50,000 50,000 0
< 15,000
Al 35,000
11T MISXASEX 50,000 50,000 0
OMBISXNELZHE 7= & 2435 ANGAY
50,000,000& 50,000
< 15,000
Al 35,000
Z2EE ARUEIANA AEAMS 124,000 170,000 A 46,000
< 62,000
Al 62,000
201 LB-2EH| 6,500 20,000 A 13,500
< 3,250
Al 3,250
01 At 2t 2l 5,000 5,000 0
OAeHLHE T 2Dl 5,000,000& 5,000
= 2,500
Al 2,500
02 232gHl 1,500 15,000 A 13,500
O&dLE HFLIEAHNNH AMYEASE 1,500,000 1,500
< 750
Al 750
301 LEMZ 81,000 81,000 0
< 40,500
Al 40,500
01 MEIEBEZE 45z 80,000 80,000 0
Osg=s=s MUlA XI& 80,000,000& 80,000
< 40,000
Al 40,000
09 #HALAHIXI &3 1,000 1,000 0
OAMUN & 1= 1,000, 000& 1,000
< 500
Al 500
307 glz2tol & 33,500 66,000 A 32,500
< 16,750
Al 16,750




AN FRMSTA L
HE: | EMERE
o9l sY=T X (29 a8)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
11 AISI S XA E = 33,500 66,000 A 32,500
OHRUEAHON Ot=dH XA 33,500,000& 33,500
= 16,750
Al 16,750
405 XH&HE S HI 3,000 3,000 0
< 1,500
Al 1,500
01 AL EFH S 3,000 3,000 0
OHRLUEAHO iS4y &7
3,000,000& 3,000
< 1,500
Al 1,500
ICT & ABXS SHESAY(HRLEHNO) 8,893 0 8,893
= 3,557
Al 5,336
201 L2l 8,893 0 8,893
= 3,557
Al 5,336
02 =224l 8,893 0 8,893
odoILIdA XAAS(0IBE S)
8,893,000& 8,893
= 3,557
Al 5,336
s Xls Sg=sAE (=) 55,168 0 55,168
= 55,168
201 B2l 23,368 0 23,368
= 23,368
02 23224l 23,368 0 23,368
OQEXs SE=SAY MHlA 23,368
o Al A El 2T I 4,000 =123 =100CH 4,800
= 4,800
oS4l 15, 180& 128 = 100K 18,216
= 18,216
o B X st A 352,000& 352
= 352
307 glz2+ol & 31,800 0 31,800
= 31,800
11T AISISAAISEE = 31,800 0 31,800
OAOHLIAM elA4H] 2,650,000 x12& »1H 31,800
= 31,800
13X s SEssAL (=) 4,360 0 4,360
< 1,308
Al 3,052
201 Yyt 2 Y| 2,800 0 2,800
< 840
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A FOUMET R D
M I ZMEBE
el sYy=x K (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 1,960
01 AP 22| d| 2,800 0 2,800
O BXs Se=sAIg 29H| 2,800,000& 2,800
= 840
Al 1,960
307 2I2t0| & 1,560 0 1,560
=} 468
Al 1,092
11 A EXAIEEX 1,560 0 1,560
OHNHOHLI N 1A b] 1,560,000 1,560
& 468
Al 1,092
THEES(F0IMET ) 2,328,715 2,201,199 127,516
WEAHAHXI= 2,328,715 2,201,199 127,516
JIEISHEEZ 2,328,715 2,201,199 127,516
701 JIEIS HENHE2 2,328,715 2,201,199 127,516
01 JIEtSI HEE 2 2,328,715 2,201,199 127,516
O09z2202I2 S43H 852
2,328,715,000& 2,328,715
HHSHAY (FOIMEX D) 98,000 85,839 12,161
ol 2 A Y| 9,120 7,999 1,121
oled A | 9,120 7,999 1,121
101 2121 H] 9,120 7,999 1,121
03 2L (RIHSY)Z22E 9,120 7,999 1,121
Oz 20H=3 A 22lAtY 9,120,000 9,120
Jl2dHl 88,880 77,840 11,040
Jl2 &4l 88,880 77,840 11,040
201 et 9| 8,000 8,000 0
01 AP 2t 2] H| 8,000 8,000 0
OgBtL=2Y| 8,000,000& 8,000
202 o4 H] 77,280 66,240 11,040
01 2Ll 77,280 66,240 11,040
O2U=& 0l 280,000 23H x12& 77,280
203 € R F&d| 3,600 3,600 0
04 EASHEIRFAH| 3,600 3,600 0
OFRMNSI YR 10,000 x30H x12& 3,600




